Accel Geom/ Adv Alg Name

Benchmark 1 Review Part | Date Period

1) Find the values of x and y that make the equation 5x + 6i = —35 — (24y)i true

A.x=-7,y=-1/4 B.x=-1/7.Y=-1/4 C.x=-1/7,y=-4 D.x=-7,y=-4

2) Find the complex conjugate of 5i + 7

A.7-5i B.7 +5i C.5i-7 D.-7-5i

3) Write the result in the form a + bi: —2i(4 +3i) —3(5+90)

4) Express v—192 in simplest radical form

A.8V3 B. V192 C.8iV3 D.3iV8

5) Find the product and quotient of (5 + 2i) and (3 - 8i)

Product: Quotient:

Simplify the following powers of i

6) —4i'? 7) 2 —3i%+2i'° 8) 5i34 —2i8

9) Find the product iv7(6 — iV7) 10) Simplify —i2v/—100



SIMPLIFY EACH OF THE FOLLOWING EXPRESSIONS:
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